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Part A
Answer any ten questions.

Each question carries 2 marks.

Market economy
Explain the nature and scope of public economics.

Club goods

Fee.

Dead weight loss.

Zero base budget.

What are the types of non - development expenditure?
What is displacement effect?

What do you mean by deficit financing?

What is fiscal federalism?

Vertical Equity in India.

Resource transfer.
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Part B
Answer any six questions.

Each question carries 5 marks.

Explain public goods and free rider problem

What is GST? Also describe the advantages of GST.
State Adam Smith’s canons of taxation.

Briefly explain the budgetary procedure in India.

Explain the canons of public expenditure.
Explain critical limit hypothesis.
Explain the effect of public expenditure on production.
List out the major points of refernce of current Finanace Commission of India.
What is Gadgil- Mukerjee formula in the allocation of funds from centre to state,. point out
its importance
(6%x5=30)
PartC

Answer any two questions.

Each question carries 15 marks.

Compare and contrast public and private finance.

Distinguish between direct and indirect tax. Also explain the merits and demerits of direct
and indirect tax.

Explain the trends and pattern of public debt in India.

Discuss in detail the meaning and concepts of Vertical and Horizontal equity in Fiscal
federalism.

(2x15=30)



